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Trace Tables
Perform Trace Tables on the following:
	
	Pseudocode (underneath each one describe what it does)
	Trace Table (create a table with a column for each variable in the algorithm and one for the output, it is handy to include the conditions, too. Some tables have been started for you…)

	1.  


	BEGIN

   READ pages

   IF pages<2000 THEN

      cost ( 0.3 x pages+100

   ELSE

      cost ( 0.35 xpages+150

   ENDIF

   DISPLAY cost 

END

Use data 2500, 1000 and 2000 in separate Trace Tables

	test#

pages

<2000?

cost

output

1
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3
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F
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F
.35x2500+150=975
.3x1000+100=400

.35x2000+150=850
1025
400

850
This algorithm…calculates the cost of printing a large print run

	2.
	BEGIN

   READ weight

   IF weight >= 2 THEN

      IF weight < THEN 

         postage ( 4.5

      ELSE

         postage ( 6.75

      ENDIF

   ELSE 

      postage ( 2.65

   ENDIF

   total ( postage x weight

   DISPLAY total 

END


Use data 7, 5, 3, 2, 1  in separate Trace Tables

	test#
weight
>=2?
<5?
postage
total 

output
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4.5*3=13.5

4.5*2=9

2.65*1=2.65
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This algorithm…calculates the postage rate based on weight and calculates and displays the total cost

	3.
	BEGIN

   total ( 0

   FOR count ( 1 TO 7 DO

      READ score

      total ( total + score

   ENDFOR

   average ( total/count 

   DISPLAY total, average 

END


Use data 78, 22, 45, 60,100, 85, 58

	Note the order of these matches the order in the loop – makes it easier!
count
score
total
average
output
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448/7=64
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This algorithm…calculates the total and average of 7 scores


	4.
	BEGIN

   FOR inch ( 1 TO 12 DO

      DISPLAY inch, 2.54*inch
   END FOR

END


	inch
output
1
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5

6
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8

9

10
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1     2.54

2     5.08

3     7.62

4   10.16

5   12.70
6   15.24

7   17.78

8   20.32

9   22.86

10  25.40
11  27.94

12  30.48
This algorithm…converts inches to cm and displays it as a conversion table.

	5.
	BEGIN

   READ temp

   m_temp ( temp

   FOR time ( 2 TO 12 DO

      READ temp

      IF temp > m_temp THEN 

         m_temp ( temp

      ENDIF

   ENDFOR

   DISPLAY m_temp 

END


Use data 33, 26, 35, 28, 34, 40, 15, 32, 23, 44, 55, 42


	time
temp
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This algorithm…finds the maximum in a list of 12 values and displays it

	6.
	BEGIN

   num ( 10

   c_ford ( 0

   FOR count ( 1 TO num DO

      READ model

      IF model = “FORD” THEN 

         c_ford ( c_ford+1

      ENDIF

   ENDFOR

   n_ford ( num – c_ford

   DISPLAY c_ford, n_ford, num 

END


Use data FORD, NISSAN, FORD, FORD, HOLDEN, HOLDEN, MAZDA, MAZDA, FORD, HOLDEN


	num
count
model
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output
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4,6,10
This algorithm…counts the number of Fords in 10 cars and displays the number of Fords, non-Fords and total



Page 1 of 2

